AREEERE, IS EPE
2023-2024 FEEE_FHS— 4 AP RKEMNKEAFNE
R AE: TIRE BEP GEA ot B FRE RER
—. EEE: KB /PE, BES S, 405 ERPELEHKOANETF, RE—
TR &% H ERK.
L. 24nz@-i)=1+i, Mjz|= ¢ >
A. 22 B. 2 C. 1 D. %

2. €0s10°sin70°—-sin170°sin20°= ( )

P—— B, W3 c. L p. V3
2 2 2 2
BT () = 21g X+ 2X =5 (E SFER LR ()
3 5 5
0,1 Ll =,2 | 2,= | =53
A (0Y) B(z) C(zj D(zj

4. 7EFA4TPUHIE ABCD i, AB=4, AD=2, 4A=g, CE=3ED, MAE.BE= ( )

A. 6 B. -1 C. -3 D. -9
5. IS NAABC M. 24 AB-AC+S =0, Msin2A+cos2A= ( )

7 3
A, —— B. 1 C. -1 D. -
5 2

6. WK, HWOFE N1, ZKAB=1, CHEHO F—3hk, N AC.BCBUETEERE ( )

A. [0,1]

B \/_ \/_ A ¢
C. J_ f .C A
A F B

D. ——f +f (55 6 WD (57 WED

7. BAAABD. ABCE. ACAF Z=ANE%R=ME, HIE=EA=AES R E R T

11
WAL =M AABC . ADEF . # AC=7, cosLABDzﬂ, WEF= C )

A. 243 B. 1 C. 3 D. 2
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8. TUHTAABCH1, AB=AC=4/2, |[AB+ABC| =4(1<R), M LB AB il B fI=

%AP=gsin2a-m+cosza-ﬁ[ae{%,%D, )R”J‘W‘ s/ MEN ¢ D

i

= B AL 3P, BN 64, R 18 . ER/MES BRI, AEH|
R & HEZRAEMIEXN KR 6 7 HMEN R, AEREHR 059

9. THILRIERIZE ¢ )

A. FTE AL IR A

Jaray/AN
=F

>
|

B.

. — \ N = - |l = L = = /, 1= 1_.
B. lEa, bR, #[2a-b|=2, Wateh i iR b

C. & AB=22, B=%, AC =3, Mk L&tEm=Mmraaig—4

D. S¥dEr, FaER 2w e |2-2 =1, Wz 4 BAUH iR

10. CHla, BNBIA, COS(a+ﬁ):—Zf, 0082a=—g, mC o

A. sin2«a :§
5

1145

B. COS(a—ﬂ) :2—5

5

C. cosacosf3=—
P 25

D. tanatanp =21
1. Mk =AM G . Bl BEORRA T R—HBHZ b, HELH MO M 2 HE O
OB ZELPHON “BRRiZ” .
MRL2: P2 AABCH—H, & ABPC, AAPC, AAPBMIHEAH KNS, S,
Sc, MS,-PA+S, -PB+S.-PC=0. ZLbHMN “FHilEH” .
SR G H O 35 AABC [ EE L HEL>y AMOATA G, WIS IERZE ¢ D
A. OH =0A+0B+0C

—(E AC

B. # Al =1| — + = A#0), N AABC NEEE=fE
& | AB |sin2B |AC|sin2CJ( ), T ASIR= AT

C. OA-sin2A+0B-sin2B+0C -sin2C =0

NG

D. %4@—}—5@—}—6%:6: I)_I\IJCOSZBHC:—?
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V. KB 3NE, S5 4, 15 4 EESREESESE RIS L.
tan15° + tan 45° ++/3tan15" - tan 45° = :

S

—
[98)

cisnfa|=[p|#0, |a+b|=[2a-b|, miaL5-amksin .
14. CEn%if AABC IIN A A B, C FITxt il s sl v a.b,c, Echin(A+%)=a+b,

SinA

U'J—EI’JEME/BIjJ

VY MRERR: AL S /MR, 3£ 77 2 BERNES W CFRE EATREREESR.
15. (1343

Oz, =a+i (aeR), z,=1-i.

(1)25— =<, SResamifE;

(2) % 21, 2, 45T IR A6 T 5B R ﬁ%%{ij +(ij oot

16. (154
Cn & a=(sina,cosa), 5:(\/5,—1), ¢=(cosp,—sinp), ae(0mn),
(W#EaLb, KalhfH;

[

A b, ac=s2 T gksingit
(2)353- b a'C—13’ ﬂ€(612]7 ;ksmﬂ[g/]'fﬁ

17. (154
CL50 AABC [ A, B, C FistiIili4r il a.b,c. i DFE AC |, AD=BD=2DC.
(H#a=2v2, c=+2, kb;

T a

(@]
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18. (17 43

CLEIRREL f (X) =§+sin @Xcos X —/3c0s? ox(w > 0) I/ NEF N 7 .

(DR (%) mfpr s

8
(@%xe&é}%}}ﬁ,ﬁ%%%}X+%)=§ﬁEM%E&MP&MA&<XrO%<M%

KX+ 2%, +2% + X, HI{H

CYRE ISR, [T x (R 1 (x+gj > ﬁmcos(x+§j—ﬁsin(x—§j

E%%}WE&E?%ﬁE,*ﬁm%ﬁ;%ﬁﬁE,%%ﬂﬁ.

19. (17 49

O AEEBER . PR BER 2 F R R IR 18 3 DR B — A A LA
B “CrR— =M, RIE—8, FHEXAN=MEHN=ATAMEEZ RN, E
MR U= =AY/ N T 12008, RSN =AIBMIESE A B0, Bhizss
AT AT S FRELPIPI A 1207 s M= M —NARKTERET 1200, FrRSh
=MTGECR A TV AR 72 3% B I R BT SR AR RORR O 2 1) A

CAIAABC A A B, C Il il s alvab,c, ¥ ri P AABC W3 5 k.
a-b _ sinA—sinC
c SinA+sinB ~
Ok B ;
@%#ac=8, KPA.-PB+PB-PC+PC-PA.

(D#

(2)# cos2B +cos2C —cos2A=1,

iﬁFL

PB|+|PC| =2, Rssia momut .
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